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EXN: A4
MM OtMSID WG T2EH T4
Sl Xot=2el MY (XotE=2e EZ3H) (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
243 461,000 408,500 52,500
OtMGHD Eset =2 =4 34,121 22,279 11,842
Xota=2te| AP (XIat=2tel EY3AH) 34,121 22,279 11,842
Xaot=2e & Xotx=0ls88e329 22 34,121 22,279 11,842
101 e1214| 12,529 11,457 1,072
04 JIZtHI22XNEE S 12,529 11,457 1,072
O KXot A2 12,529
- Ql214| 63,330 x30L *63] 11,400
- Z20AZEE2 11,400,000 *4 . 5% 513
- 888s 11,400, 000& *1.5% 171
- MHEE = 11,400,000& *0.7% 80
- 2WAYPHEE 23
11,400, 000& *2.995% 342
- LUNIRYRHE P2
342 ,000& *6.55% 23
201 et d| 21,592 10,822 10,770
01 AP 22| H| 7,600 5,220 2,380
O Xt 282 2UsEE 4,492
- XM, SEE X 82,000 *6EF A 492
- T2E EY 200,000 *20H 4,000
O XNotx=2elds S 70,000 6H 420
O ==d|(Klot=2e ZU2P)
7,000 x4 «82 x 12 2,688
02 32%H| 13,992 5,602 8,390
O XNotE=EXZA=UR A 22 12,300
- ZI|EE KX 1,000,000 * 110 & 11,000
- BXASYDF(UYSDEE)
1,300,000 1,300
O 2222 2 HA 1,692
- Xot40IERES R wsE
300 2504 120 & 900
- Xot=EBXx2A=Y SAFAHH
6,000 x1124x12J01 & 792
OldldHl (KIot=22I EE 3 H) 426,879 386,221 40,658
olglbl (KIote=22ISEE 3 H ) (Kotx=2e SE3IH) 426,879 386,221 40,658
olgl Bl (KIot=2t2l SE 3 H) 426,879 386,221 40,658
801 ol bl 426,879 386,221 40,658
01 Btail bl gl 426,879 386,221 40,658
O olidld] 426,879,000 426,879




